~adairs
ASSEMBLY INSTRUCTIONS
CONRAN SOFA BED

Please read instructions carefully. Remove all wrapping material and packing from the
carton. See hardware and furniture parts list for guidance. Be sure you have all parts
before you start to assemble the product. Place all furniture parts on a clean surface,

such as carpet or rug to prevent the item from being scratched.

" U

www.adairs.com.au
www.adairs.co.nz 1/7



Part list:

2 x Part 1 1 x Part2 1xPart3 2 x Part 4 1xParth

Leg Front Leg Frame Left Leg Frame Right Rails Seat
1xPart6 2xPart7 1xPart8
Back Rest Pillow Base

Hardware list:

Ax1 Bx1 Cx8 Dx8 Ex4 Fx2

Hx8

Allen Key Allen Key Bolt Bolt Bolt Bolt Bolt Washer
4mm 5mm M6x25 M6x32 M8x30 M8x35 M8x75 J6/216
Jx2 Kx2 Lx2 Mx2 Nx2 Px1 Qx4
£
i o= - <)
Nut Wheel Stopper Stopper Felt Spanner Washer
M8 115x30x45 105x30x28 B25x40 J30x3 14mm a8/a17

27




Ax1

4mm

Dx8

M)
s

M6x32mm

@6/316 mm

M6x25 mm

M6x32 mm

3/7




Bx1 Fx2

ﬂ @\\\\\\\\\\\\

4

BEFORE TURING SOFA
UPSIDE DOWN, MAKE SURE
THE SURFACE BELOW IS
CLEAN AND FREE OF DUST.
WE RECOMMEND USING TWO
PEOPLE TO MOVE THE SOFA

417




Ax1 Bx1 Cx4 Ex4 Lx2 Qx4
F | F || &
4mm 5mm M6x25 mm 4mm 26/314mm 28/B17mm
)
A
\ A
Ax1 Bx1 Cx4 Kx2 Mx2 6
A A Bl
J)
4mm 5mm M6x25 mm M8x75 mm 115x30x45 mm @25x40 mm

S/I7



6/7




______________
----------

___________

_____
______________
______

10

717






